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. a8
" The nucleus resulting  from 2;;U after | -

Tu A o Td AR g F
Successive emission of two q-particles and PHY SEST & RSy g qTelT
BlE:

four B-particles is

- (A) 235 (B) 23

W e © 2, S Th aRa
{C) 230 (D) 23

e ZSSPU e 29 e:PU géb

2 The rate constant for the first order reaction |2 o PIfe = TS IWfpar o e
is60 s~1 The time in which it reduce the Reries 60s~t & | gg T

th .
concentration of the reactant to 1 value ANBRS DI Higur ith H9 I8 9491

1s 16

3 (A) 46 FFrgy

(A) 46 seconds (B) 4.6 x 10~% 2
B) 4.6 x 1073 seconds ’

© 46x 1072 25ves
© 46x10-2 seconds

; ) 2 Jpvgy

(D) 2 seconds

% A body cools from80°C tog4°C in 5 s T& Mo’ ggeoc o 64°C TP T 5
minutes and same body cools from 80°Cto e & g1 & o= 95 e 80°C §

52°C in 10 minutes. What is the 52°C U5 S5 10 fee F o & |
temperature of surroundings ? .
(A) 24 °C ®) 2500 SIRTUIRT & qTCNaRYT &7 a9 =Fyy -
(A) 24 °C (B) Z55C
© 22° (0 28°C :
(c) 229 (D] 28 °C
Y x=3_ 2y then %2+ L will be YR g A 2, xi BT A
2
() 34 (8) 30 _ BRI -
(©) 36 () 24 LA 3y (8) 30
(€ 36 (D) 24
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5. Three masses are placed on the x-axis : 300

gm at origin, 500 gm at x = 40 cm and 400
8m atx =70 cm. The distance of the centre

of mass from the origin is
(A) 40 cm (B) 50 ¢em

() 30 cm (D) 45 cm

If a body loses half of its velocity on
penetrating 3 ¢cm in a wooden block, then
how much will it penetrate more before
coming to rest ?

(A) 3cm (B) 4 cm

(@ 1cm (P) 2ecm
The length of the minute hand of a clock is

14 cm. The area swept by the minute hand
in 5 minutes.

(a) 154 3 (8) 154 "
—15— cin — Tt}
(c) 154 5 (D) 154 q
—3—cm —=rm-

A 25 watt-220 volt bulb and a 100 watt

=220 volt bulb are joined in series and

connected to the mains. Which bulb will

glow brighter ?

(A) First 25 watt bulb and then 100 watt
bulb

(B) 100 watt bulb
(€) Both will glow with same brightness
() 25 watt bulb

-?ﬁ?mmx-amw,soogmmﬂa

g W, 500 gm @1 x = 40 o w
T 400 gm BT = 70 W W) @ T
E 13T s @ o R W g9

(A) 40 ¥, (B) 50 9.
(© 30 o (D) 45 ¥,
M T G Y F T HE W 3

AW F T 4T W o 2 o um
fm IR dg7 o R &

fevraraven & a7 wv 2
(A) 3 c¢m ®) 4 c¢m
© 1 ¢em @) 2 em

Wﬂtﬁfﬁﬁﬂ?mﬁﬁﬂﬁﬂﬁmm
W R | e arelt € $ ERr 5 Pie &
PR Y W &5 F7 5w =

(a) 154 (8)

o

— ._3_4—;:'\2
12 6

@ it_b_é-gzn@ () EE%;*
9

25 dIC -220 dicC BT TS §o§ FT 100
qe -220 9I€ F TR T A FNHH

s T Rag (@ qEaR) 9 Ser

ST § | B9 A 96 % gum 2
() gl 25 ae BT 959 Y 100 are @
g

(B) 100 9T€ &7 gou
©) SHl 99 T THSY |
B} 25 a1 BT Tog
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o. Which of the following is not a colligative | 8. frfofeg 9 @ S IO T8 T -
property ? (A) yeprei forameietar
(A) Optical activity ® w0

(€ qreIerd o1 JAMRTE JqTAT

(D) FgeFid BT ST

(B) Depression in freezing point
(©) Relative lowering in vapour pressure

(D) Elevation in boiling point

10. In a single throw of three dice, the|1o. 39 Ul B THA S H o AN 5

probability of getting a total of 5 o B ufirear erft -

Ay 5 (8) 5 (A) 5 (8) 5
216 108 216 108

@ 1 o) 1 (©) 1 {D) 3
216 36 216 36

v In Friedel Crafts alkylation, besides AICls, | 1. THied HTHE & TeBIADRI q AlCL

the other reactants are ¥ T INPRS T -
(&) CH+ NH; (B CgHg + CHsCl ™ C.H, + NH

(© C.Hg + CH3COCI L@ CcHg + CH5CI
(©) CgHg + CHy (©  CcHg + CHsCOC!

()  CcHg + CH,

2 A convex lens is in contact with concave |12 Q& S<dl o9 3@ae S 9 D T T |
lens. The magnitude of the ratio of their| 7@l PEg  3eE @ AW gl \

2 ) =
focal lengths is 3 Their equivalent focal qRATIT E g | T I T

length is 30 cm. What are their individual 30 O '% | 9 FAT-FAA Fod ol

focal lengths incm ? . F BF -
(A) -15, 10 (8) 75,50 {al —45 10 (8) 75, 50
(©) =75, 50 (0)-10, 15 @ 75, 50 ©) 0, 15
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14.

16.

17.

If pendulum bob on a 2 metre string is
displaced 60° from the vertical and then

released, what is the speed of the bob as itis
passes through the lowest pointin its path ?
(A) 4.43 m/SEC (B) ,\/E m/sec

© 2 x98 o) 1
V2 X 9.8 m/sec — m/sec

In a AABC, AB =63 cm, AC = 12 cm and
BC =6 cm, then the angle B is
(A) 60° (B) 45°

(@ 120° (D) g90°

The half-life period for a zero order reaction

is equal to

(a) 0.693 (&) 0.693
K[Al, K

© [Alg o) 2K
2K Al

Which of the following behaves both as
nucleophile as well as an electrophile ?

(A) CH,CHO (8) CH,Cl

(@ CH3;0H (d) CH5CN

Which of the following does not have a
metal carbon bond ?

13.

14.

15.

17.

I vH v dfa ST 2 W W SN W
dor &, @Y SRAER A e W o AR

oI fear o & | §fd BT I 9 W
frefam g & ToRA W AT T EW 2
(&) 4.43 R ® /7 AR

© j7x9g AR @ 1 AR
V2

ue Brist aABC H AB = 6y3 T, AC

- 12 % GaT BC = 6 T B o BT B
S J9 8NN

(A 60° (8)  45°

@ 120° (o)  90°

qmaﬁ%aﬁaﬁﬁma‘amﬁm
B IR B -

(A 0.693 @) 0.693

KlAl, K
© [Alg ) 2K

2K [Alo
(i S S BF  TfeEe 9
TATAEE qFI @ WNE B} P § ?
(A)  CH,;CHO (B)  CH,CI
(6 CH,0H (>)  CH;CN

frefRag O ool arg-eEA d9 T
g7

A Ni(CO), (8 C,HMgBr W Ni(CO), (8)  C,HsMgBr
(© K[Pt(C,H,)Cl] © AlI(OC,Hs)s (@  K[Pt(C,H)Cls]

®  Al(OC,Hs),
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18.

20,

21.

A small metal ball is suspended in an|18
uniform electric field with the help of an
insulated thread. If a high energy X-ray
beam falls on it

(A) The ball will not deflected at all.

(8) The ball will move to infinity.

(©) The ball will be deflected opposite to the
direction of field.

(D) The ball will be deflected in the direction
of field.

Real value of x and Yy, if x=-1 y—1 =4 17
341 3-—i

(A 10,12 (B} -4, 6

(€ -2,5 D) 7,-7

Which of the following is not a good 2

conductor ?

(A) Cu metal (8) NaCi(s)

(© NaCl(aq) ) NaCl (molten)

The work done in placing a charge of |21
8 x 10-1% Coulomb on a capacitor of

capacity 100 microfarad is
(A) 16 x 1072 Joule

(8) 31 x 1072 Joule

© 4 x 107 Joule
() 32 x 1073 Joule

g @ Ts B e e gm B
TERET ¥ T figh & ¥ deern
S ¥ 1 AR e S Se @ Xray

(A) e faafa =& erlt |
(®) g oFFd R deil gl |

{c}ggﬁaaaaaa%ﬁqﬁﬂﬁwﬁﬁ@rﬁﬂ
|

(O)ifg Jera & @ faem F RadfE

gy -1 ¥y-l_ @t @Ry @

3+i 3-—i
qrdfde T BN -
(A -10, 12 (B) -4, 6
(@ -2, 5 {B) 7. =T

A § § 9F @1 @S Tol § ?
A cy =g (8) NaCi(s)

(¢} NaCl(aq) (D) NaCl (Re=rgan)

100 TEHRE SiRar F TEIRI H ]
g x 1018 BaM = T = 5

ST BAT -
R 16 x 10732 5

B 34 x 10726
@ 4 x 107 S

@ 32 x 10732

3
5

4

=,
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22

23.

24,

25.

26.

At the magnetic poles of the earth, a
compass needle will be
(A) Vertical (B) Bent slightly

(€) Horizontal

(D) Inclined at 45° to the horizontal

Percentage errors in the measurements of
mass and speed are 2% and 3% respectively.
The error in the estimate of Kinetic energy
obtained by measuring mass and speed will
be

(A) 8%

(© 2%

(B) 10%
(D) 12%
An artificial satellite moving in a circular

orbit around the earth has total energy [PE +
KE] E,.lts potential energy is

A 2 E, () —E,

© 15E, () E,

The value of x in the following series :
146+11+16+...... + x =148

(A) 36 (8) 39

(c) 38 (D) 37

The molarity of pure water is (density of
water=1gm1™1)

22.

24,

25.

286,

gﬁﬁq@ﬂﬂﬂgﬁwwmaﬁ
gg BN -

(A) TFEATER

(®) gedl W T &

© &fas

D) &R ¥ 45° W P &

sEME AR g b A9 § HEE 2%

3R 3% @ ufRee Ffe Al S | S=EA
a) e ¥ WO ¥ uE e el @

e ¥ e Bl -
(A) 8% () 10%
© 2% D) 12%

1+ 6+ M1+ 16 + ... + o = 148
(A) 36 (B) 39
(©) 38 (D) 37

g S P AeRdl § (S P OTIIE =
1gm L)

(A) 55.55 M (B8} 45.55 M (A) 55,55 M (B} 45.55 M
(C) 66.66 M (D) 444 M (€ 66.66 M (D) 44.4 M
Page: 7



29.

31

. The perimeter of a triangular field is 450 m

and its sides are in the ratio 13 : 12 : 5. The
area of the triangle

(A) 5670 m? (B) 6750 m?

{€©) 7560 m? (D) 6570 m?

The length of a cold storage is double its
breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 m2.

its volume will be

(A) 316 m3 (8) 216 m*

{© 206 m? (D) 416 m?

The water droplets in free fall are spherical
due to

(A) Gravity (B} Viscosity

(€) Surface tension

(D) Intermolecular attraction

A bomb of mass 9 kg explodes into 2 pieces
of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6
kg is

(A) 3.84 Joule
(¢) 1.92 loule

(8) 2.92 Joule
(D) 9.6 loule

27.

23

29.

30,

If the arcs of same length in two circles =

subtend angles of 60° and 757 2t their

centres, then the ratio of their radii
(A 6:7 (8) 5:4

€ 7:8 D) 4:7

v PRETeR ¥ B aREd 450 W ®
oI TS YIS B SgUd 13 (12 ¢ 5
3 | reTeR T BT &E B -

(A 5670=2° (B) 5750

Reh

© 7560 %7 0y  g570%

1

wﬁaﬁaﬁmwﬁﬂﬁﬂﬁ
o T L | TS A 3 W B | F
ARt SERT (GRaTS afga) B ATwd
108ﬁ2ﬁl3ﬂﬁﬂgiﬁfwm-

A 31687 B  216%°

@ 206 ) 416

wdmades fr W@ o B g @
AFR NN Fas SR Bl & ?

(A) 7o (8) gl

(© g g

(D) RIRISD YT

SKQW?F‘E"”?%ESKQ

(W) 384 5 ®) 2.92 Siel
@ 192 9 ) 9.6 A

= e % A9 A @ P FE N
eocﬁﬁ750$aﬂwa=rr%r§ﬁrwq?h
= Froarst 1 U e -
A 6 : 7 (B) 5 : 4
€ 7:8 (D) 4 7

Page: 8
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32,

33

35.

Which ore contains both iron and copper ?
{A) Chalcopyrite {B) Chalcocite

(€) Cuprite (D) Malachite

32.

The number of moles of KMnO, that will | 33.

be needed to react completely with one
mole of ferrous oxalatein acidic solution is
(A 3 (8)

5
©1 (D)

o]

U] =

In what ratio does the point (-4, 6) divide | 34

the line segment joining the points A(-6, 10)
and B(3,-8) ?
(A)3:7

(€} 4:5

(8 4:9
Dy2:7

If ”Pr:“Pr_lsand i ="C,.,, then the

valuesof nandr

(A)n=4,r=5 B n=5r=4
(©yn=2,r=3 (pyn=3,r=2
IUPAC name of | is

OH
(A) 1-Ethoxy propan-2-ol
(8) 3-Ethoxy propan-1-ol

5

mwmﬁaﬁawﬁmﬁ%?
(A) ATepUERIEE  (B) TATCHIET
© wgEe (0) Hetarge
KMnO, ¥ A @ gEnm S B

afm%étﬁ71ﬁra@aﬁhﬁﬁmﬁ
qoier e & forg emaw® € -

(A} 3 ) 2
5 5
© 1 (o) 4
5

a1 f=gali A(-s, 10) @1 B(3, -8) Bl
S e YEEs B g4 6) oy

IraTd # dreT -
m 3 :7 B 4 :9
€ 4:5 D) 2 : 7

- gfer nPr :npr_if[s_r[ nC =ncr+1(-f'[

;
n 3R r &1 A9 BT -

Wn=4r=5 B n=5T
lC]n=2,r=3 D n=3r

i
n
1]

i

. CH; —CH—CH, —0C,Hs
? |H CHy—0Cafs o1 quPAC o &

OH
(A) 1-qeifaRR Te-2-alel
(8) 3-gefaedl HU-1-iid

(C) Ethoxy pentanol (© vgefel deHIT
(D) 2-hydroxy-3-pentanone (D) 2-ETESIERA-3-UeHT
Page:9 500881
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39,

37.

such that

¥ tanx +secx = V3
0 < x <, then xis equal to

() 5T B T
6 6
© 2m (o) T
3 3
Nessler’s reagent is used for the detection of |:
(A) NH; (8 Nat
© K* ) Cu?*

A particle is projected at  60° to the

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

{A) K (B) zero
0o K o K
4 Z

40. Root of the equation 3x2 + 7ix + 6 =10

() 3i, 2i (8)

1
i

(€) 2
—3i,—=1
3

37.

39.

40.

afy tan x + secx = V3 et
0<x<m x I A A -

() 5m ® T
5 6
(© Zm o T
3 3

mmﬁWwwﬁ%
forg Brar §
(A NHy

() Na¥

© K (o) Ccu?t

WWKWWQ%%@OO

Eﬁfﬂﬂsx&‘rﬁaﬁmw%‘,fﬁw
fig w TR e ERM -

A K (B) g
(0 K o) K
4 7,
TEO 3x2iT7ix+6=0 P W
B -
& 34, 2 = Si
-IA-2
i 2 (D) 2
—3i,-1 21,—1
3 3
Page: 10
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41.

42,

43,

45,

485,

SECTION -1l
CIVIL ENGINEERING

In lettering, graph size of letter )’ is
{A) None of these (B) 4x5

(€) 5x5 (D) 3x5

Rolled steel section ‘ISNT" is read as
{A) All of these (8) 1.S. light T-bar

{€) 1.S. Normal T-bar (D) 1.S. Junior T-bar

Soil pipe in plumbing services means a pipe
{A) carrying solid materials

(8) carrying industrial waste
() carrying waste water from water closet

(D) carrying water

If Whole Circle Bearing (WCB) of a line is
120°. Its Reduced Bearing (RB)is

(A) N120°E (8) S30°E

{0 N60°E (p) S60°E

Number of links per metre length of a chain
are

(A) 10 (8) 3

(©5 (D) 8

Hard solder is an alloy of
{A) None of these

() tin and lead

(8) copper and zinc
(D) All of these

41

42.

43.

45,

48.

qer - IX
Rifer SontaiT
-sxmi-cﬁ%aq-mww%
(A) Eﬁﬁﬂ'ﬁéﬂ?ﬁ

(B) 4 x5

© 5 x5 (b} 3 x5

érﬁ»aﬁsw—cﬂﬂmism*a?rqaw
g
(A) I T

®) YR e @l S-BS

(€ URET AFE TERY -5

(0) WA "EE BEl S-S

Jaerl § WEd gy @l wam e

ST &
) o/ uerd & vare # |

(8 siEfie suire & waE H |

(© T % oURIE gd F FaE # |
() g & warE H |

qoige somel (WCB) ¥ it X=m @1
ﬁﬁfrﬁlzm%IﬁE'{\'@WEﬁ(RB)ﬁ
Y1 &1 A B

(A N120°E (8) S30°E

(© N60°E (o) S60°E
aﬁa;ﬁwwmﬁﬁ(unkﬂ
Rl B

(A) 10 (B) 3

© 5 D) 8

HR Treee frasr fserg & 2

(A) sﬁﬁﬁﬁ‘éﬂ'@ﬂwﬁwﬁﬂﬁ'ﬂ?
© foq R ds o) I It

Page: 11
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47

48,

49.

50.

51.

B2,

. The local swelling
termed
(A) Hacking

{©) Cracking

(8) Dubbing
(D) Blistering

The
generally measured with
() Bonning rod (8) Ranging rod

{c) Steel tape (p) Levelling staff

(A) Mass concrete
{8) Cellular concrete blocks
(€) Flyash bricks (p) All of these

Grades of cement | 50.

(A) 33 grade
(c) 53 grade

(8) 43 grade |
(o) All of these

The foundations

level to increase
(A} Strength (8) Workability
(©) Stability of structure
(D) All of these
A weil—ccndiﬁoned triangle has no angle less | =
than
A 20° B 60°
{©) 45° ) 30°
Dado is usually provided 53.
{A) Living room {8) Dinning room
{©) Roofs (D) Bathroom
. Angle less than gQ° is known 54.

(A) Obtuse angle (8) Acute angle

(D) None of these

(o) Right angle

of finished plaster, is [47.

depth of excavation Of foundation is|4®

Fly-ash can be used 49,

are placed below ground |5t

(A) 2T (®) Sf€T

(© TR IS (o) BT T
i @ SIS
() a3 ® T S

W@@mqﬁmﬁﬂmm%
W@EW

®) e I TP

© s W@ TE (@ F Tl

Sie IS ©

() 33 IS ® 43 IS

© 53 IS (o) I T
ﬁamﬁﬁmma‘aﬂ J g

Wffﬁmﬁa‘maﬁﬁ%?

s (8)

{C)'\fﬁﬂ'%'fﬁ =3 T

©) F TN p—
Wﬁﬁﬁqmﬂﬁﬁﬂﬂﬁ
=F dies

w  20° 8 60°

(@  45° o)  30°

T2 DI el

(@A) i w9 A & SR wd A
© wa | (o) qrred H
gaoa@aﬁmﬂfﬂm%

(W SfRE P (8) = P

(©) THGPIOT tmsaﬁ@fa%réqﬁ



s5. Reinforcing material is
(A) All of these (B} Mild steel

(C) Castiron {D) Cement

=
3

. Foam glass is used for

(A) Fire proof (8) Heat insulator
(€) Both Fire proof and Heat insulator

(D) None of these

57. Manhole is constructed in
(A) River (B) None of these

(€) Public sewer (D) Drain

58. Representative fraction is equal to
{A) Distance of Map

Distance of object

(8) All of these

(¢ Both Distance of Map and

Distance of object

Distance of object

Distance of Map

{p) Distance of object

Distance of Map

58. The dimensions of Queen closer is
(A) 9cmx=x9cmx9cm

{B) 19cmx9cmx9cm
(€) 9cmx=x45cmx9cm

(D) 19 cmx4.5cm x9 cm

60. On a diagonal scale, it is possible to read up

55. gl T ®
() 3 iy (B) gg swq
(0 Zetdl olTar (D) Hryoe
B TART B YA A Ser @
(A) QIfeREf (B) FEREY
(© ftReEl 9o SwRE g
(D) 39 9§ Bl &l
57. ¥Err &7 Hafor fear Siram @
(A) T § B g9H I BIg &l
€ s Maw & O 9148 ¥
s Fregs = &1 99 §
A TFEEd (B) ¥ wft
SHF Pl
(c) TR Pl

©) s
TR

(]
=23

TS

o EESES

so. G AR @I AT ©

(Al 9 cm x 9 cm * 9 cm
(B) 19 cm * 9 cm X 9 cm
(© 9 cm x 45 cm * 9 cm
() 199 cm * 4.5 cm * 9 cm

60. fqol ATGt & Ugr S Adhdl &

to ) T (B) TR fay
(A) one dimension () four dimensions © &= RET (D) 2 frde
{€) three dimensions (D) two dimensions
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g1 Chernical formula of potash lime glass is
n K,0 . Ca0 + 65102 ‘ Ay K,0- Ca0 - 65102
® K,0-Pb0-65i0z ) K,O-PbO- 6510z
© Na,0:Ca0" 65102 © Na,0-Ca0" 65102
() All of these © I Tl
2. Binding material is 6. dud T 2
(A) Cinder (8) Coarse sand (A TE (8) Hrel 9]
(c) Bitumen (D) Stone grit © fe® D) TR Gl fi‘ra@(
g Metric chains are generally available in 3. e i SuaE £
(8) 20m &30m (8 25 m &100m (A) 2oﬁeﬁzzsoﬁ’(
(€ 15m&20m ) 10m&20m | 8 zsﬁ(;ﬁﬂmﬁ
© 15 W &R 20 |
© 10 & IR 20 il
e4. Pozzolana is 4. ArATAT T
(A) Surkhi (8) Cement w gd (8) AT
(c) Sand (D) Bitumen | {© 91 (o) faetH
i
5. The window which is provided on 2 sloping 8 FET & @ Ba = T S del
roof of a building, is called Bad € -
window @ S Rasdl (B) HIFT Rasd
(D) SPR Rz

(A) Lantern window (8} Casement
@ § ==l

(c) Bay window {p) Dormer window
s Main ingredient of Distemper is s TEEFR @l LG ERE =
(A) All of these (8) Cement () T (8) HHUC
(©) Lime (o) Chalk (o Tl (D) TP
&7. Object of seasoning of timber is e7. foFaR & Gl (ﬁﬁrﬁ"\'ﬂ) @1 @éﬂ T
(A) None of these (8) Reduces decay (R) ?\'ﬁ = o =&
{€) Increases decay (D) Reduces ctrength B &R = F < |
(© &=ol B TG |

tnlmﬁﬁmmt
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68,

A4,

70.

™

73.

The type of bond in which every course
contains both header and stretcher is called
(A) Mixed bond (8) All of these

() English bond (D) Flemish bond

Planimeter is used for measuring
(A) Area (8) Volume

(€) Slope (D) None of these

Dumpy level is used for
(A) Chain survey (B) None of these

(€} Compass survey (D) Levelling

Length of scale is equal to

(A) R.F. x Max. length (B) R.E
Max. length
i i X Max. length
R.F.

(D) All of these

Queen closer may be placed
(A) All of these (B) In header course

{€) Both In header course and Stretcher
course

(D) Stretcher course

In building the damp proof course is
generally provided at

(A) Ground level (B) Plinth level

(D) Water table level

(€) Lintel level

68.

69.

70.

71.

72,

73.

TE TP Bl Yge A TS 9 WAR oHl &I
TR T ST § O (d@fe) weant &

A RAla a9 (B) ¥ it
(€ 3Eh 9re (D) ST =TT
e S YA faar war €
(A) gz%er AT § (Bl e Ao #
(© TraT AT A fD)ﬁﬁ%ﬁgqﬁ
Dumpy level &1 ¥R f&ar wirar &
() SRIg Tdemor
© st o &
© w7 gdeor (D) Fafei
A B AR
A frege = x affeay oawTs
(B) FFus =
()

—— i
(®) I it
T SR @G ST
(A) I Tfr (B)%?,'{'\"é,:é‘ﬁ‘
(@ TR 9 waAR g9 ¥
(0) =R /(@ H
a4l § Mol A Ig&T TAT o B
A) 4 @ w® (B) Hi dT W
(€ foved a7 W

(D) Se1 drfersdT 9 W
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74. Figure represents
,__.__..—-______,.___-—._...___..__-— o
) T o
(A) Cutting plane line (8 Short preak line @ B g & ,
() Objectline (o) Outline © atsrEe el (o) arE EREll |
75. Atrapis provided in kitchen for waste water |7 TARER J g qri e Gaall ¥ o DI
(A Gully trap @ All of these s e S 2
() Floor trap (D) Intercepting traP (W TR I ® ¥ T
0 TAR 8 (p) gUERGICT EA
-6, o construct 3 10 cm thick wall, you will | & 0 com I T @ oy o™
prefer i Eaull
(&) Stretcher bond (8) English bond B TER A @) e
(c) Header bond (D) Flemish bond © T a1 (D) TAA =Tl
1§ the height of the first storey puilding is| ™ ofx TP afye |ad Sars 3256 M
3.25mand riser is 13 M- no.oftreadsis Td o 18 cm @1 2l ar ?,}.’ % G
' (A) 23 (8) 24 20l
(©) 26 (0) 25 | Wi (8] 24
o 26 (D) 25
18. Figure represents 78 ! A 23 AR
"'""'""'—"'""""'"'""""""""' HeAl % 1
(A) All of these (@) Objectline T i (B) e EN
(c) Long preak liné (D) Centre line (© Sl g AT (D) TeX iR
45, Crown glass is used 6. gpTSA TATY A B IS
(A) Window panes (8) Electric bulb \ (A <t Gl BREES g
(©) Al of these (D) Glass tube © 3 I o) s T8
s, Luminous paints contains g0. ST e o el ST ©
(A) Radium (8) Calcium sulphide (A TR
{©) Calcium sulphide with yarnish (B) Hieadd THES
(© S TEHIES arfe =
© g P TR

(D) None of these




81.

82.

 In chain surveying field work is limited to

Chemical formula of Gypsum is
(A) CaSO,-H,0 (8) CaSO,:2H;0
(© 1

CaS0,4 'EHQO

(o) CaSOy

The brick laid with its length parallel to the
face of a wall known as
(A) Header {8} Closer

{C) Stretcher (D) None of these
A wooden block hinged on post outside a

door is known
(A) Horn

(©) Cleat

(8) None of these
(D) Stop

According 15-1967, size of A4 drawing sheet
inmm is

(A) 148 mm x 210 mm

(8) 297 mm x 420 mm

(©) 210 mm x 297 mm (B} All of these

8ack bearing of a line is equal to
(A) fore bearing + 180°

(8) fore bearing + 90°
(c) forebearing + 360°
(D) fore bearing + 270°

(A) Nome of these
(B) Angufar measurements only
(C) Linear measurements only

(D) Both Linear measurements and Angular

measurements

a1

86.

 f B dNrE, AR

oo &7 IARE G €
(n)  CaSO,-H,0

{B) C3504, * 2H20

(€ 1
CaS0, E H,0O

®)  CaSO,

# THE TaE b
TR T O §, 39 wEd €
(A) TR (8) FATOR

(© R () T & BIS &I
GF B TEHE AN B URE A AR

# wge ¥ Pdfea fHar S g =
BEd ©

(A B

8) T § BIg T8I

© Tile (0) T
‘15-195?$WA4W@33%W

mm 3 &
(&) 148 mm * 210 mm

(8) 207 mm * 420 mm
(€ 210 mm * 287 mm
(0) I THl

frett Y @1 TR REHE &1 AF Bl §
(A) a1 fePaN + 180°

@) 3nr &P + 90°

© 1 & + 360°

©) g A 4 270°

w8 e ¥ & B @i ©
W i & g

(8) Fael BT AT

(© Faat XET AT D
®) W&y vd FONE AT A B

590381
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87.

=]

a0

oM.

92,

No. of bricks in 1 m® brick masonry 87.

{8) 300 nos.
(D) 400 nos.

(a) 500 nos.
(¢) None of these

The platform at the end of series of steps, is | 8.

known as

(M) Rest (8) Landing

{c) Platform (D) Stop

Least count of a Vernier theodolite is 8Y.

» 10" (8 20"

(© 30 (o) 30"

In setting up a plane table at any station a0,

(A) levelling is done first.

(B) centering is done first.

(€) None of these

(0) both levelling and centering are done
simultaneously.

Which material has less hardness ? { 91.

{A) Feldspar (8) Diamond

(¢} Topaz {0} Quartz

in levelling, station %2

(A) where level is kept.

(8) where staff is kept.

(©) level and staff are kept.

(0) None of these

wﬂﬁﬁﬁﬂﬁﬁgﬁaﬁm%
(A 500 (8) 300
() ‘sﬁﬁﬁ?ﬁﬁﬂ'ﬁ{m 400

sﬁﬁﬁmﬂﬁiﬁwﬁrmtﬁaﬁﬁ

a] ol
(A) I (B) oifeT
(© wIEHEH (D) I
- afieR 1 IR ©
{A‘ 10" (B} 2011
© 30 (» 30"

M@mmt@ﬁéﬁaﬁwm
fpar Tl €

(A) FEdAA T
© T A PE T
(D) A @ Heol A

(8) o TE

ﬁ?ﬁmﬁiaﬁmﬁﬁtﬁfﬁﬂ)%?

A BemR (&) SEHS
Q g ) FEcS

et

mﬁﬂﬁmﬁﬁ:m%wm
N SfRe = T

B) s & € |
(© a‘fﬁaama“ﬁﬁmﬂ%l
© g A B TR
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93.

96.

7.

98,

The least count of Vernier scaleis
{A) sum of the smallest divisions of main and
Vernier scale,

(B) product of the smallest divisions of main
and Vernier scale.

{€ value of one division of main scale

divided by total number of divisions of|

Vernier scale.
(D) All of these

- Sound absorbing material

(A) Mat . (8) Straw board
(€} Both Mat and Straw board
D) None of these

. Theodolite is used for measuring

{4} Bearing
{) Horizontal angle

(B) Vertical angle
(D) All of these

Plotting of in-accessible points on a plane
table is done by

{A) Traversing (B) None of these

(©) Intersection (D) Radiation

Types of varnish is
{A) Oil varnish

(&) Both Oil varnish and Water varnish
(D) None of these

(B) Water varnish

The ceiling height of 2 building is
(A) between ceiling and ground level

Q3.

95.

95.

97.

IFRIR BT eqemis &

W= o4 affer 9 & wew BR
G BT AT

Bge @ o e ¥ e wR
@M BT OB

9= WM & o wN @ O gfRR
UM W 9 @E @ e

®) F

- &9 AR ugref

(A) Fe B w1 9
© e @ w1 6

© o & o

AT figel B oRET W Re w
ST 8
(A) HremTger Ay

(B) gqﬁqérqﬁgq-gf

© yimees AR @

(D) fafeszor fafy 3
e & geR ¥

W Imer aiffer B g iy
@ Siiger ik 9= qrffer

P T I HE T

T Ha9 B el Fas &

A SHT 99 I G

(8) between ceiling and floor level B) w3 g9 ¥ A
(©) All of these (D) upto roof © I Jmf D) g Tgp
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se Weight of one bag cement is w TH 4Ny AHve BT IS g

(A) 30 ke. (8) 20 kg. (» 30 kg- (8 20 kg

(© 25Kke. (D) 50 ke. © 25 kg (P) 50 kg
4100 Pile foundation are suitable for 100. TS AA1d I g fear Sl -1

{A) None of these (8) Water logged soil ) T P TEI

(¢) Compact soil (D) Soft rock (B) w1 W_Id drell Hal

(0 defa g (D) §g T




